Water Balance Chart

A water balance chart compares the total water supplied to the site, the actual water consumed
within all the water end uses in the site, and the total water leaving the site. This will help to identify
areas of significant water usage and problem areas, including leaks and uncontrolled losses.

Water input to be included in a water balance chart consists of:

a) Water supplied by PUB
b) Water not supplied by PUB
c) Other water sources (e.g. seawater, MAU/AHU condensate, rainwater)

Water output to be included in a water balance chart consists of:

a) Water that is lost through evaporation and drift e.g. cooling towers

b) Water that is contained in the products e.g. beverages

¢) Water used for irrigation

d) Used water discharged from the site into the sewer system which shall include effluent from
the on-site wastewater treatment facility and sanitary wastewater

The water balance chart shall also indicate the reused/ recycled streams.

Water Balance Equation

Water balance equation: Total water input = Total water output

Should total water input exceed the total water output, the difference could be due to leaks and
uncontrolled losses.
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Water balance equation: (Total Water Input to boundary) = (Total Water Output of boundary)
W1+W2+R1+R2=01+02+03+04




